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Part 5

Look… there are some more bluebells! Flashes of violet and 
lavender colours as we approach a full carpet of flowers. 

What a glorious wander through the woods it’s been!

Row 113 (RS) 1ch (does not count 
as st), 1dc in first st, miss next st 
instead working 1FPtrtr around the 
2nd tr in from right 2 rows below in 
Row 111, 1dc in next st, *miss next 
st instead working 1FPtrtr around 
the 2nd tr along from previous tr 
worked around below in Row 111, 
1dc in next st, repeat from * to end, 
join with Yarn F at end of final st 
turn. [145 sts]

Row 114 (WS) 1ch (does not count 
as st), 1dc in first st, *1BPdtr around 
next st, 1dc in next st, miss next st 
instead working 1dtr into the missed 
st in Row 112 encasing the top of the 
st in Row 113, 1dc in next st, repeat 
from * to end, turn.

Row 115 (RS) 1ch (does not count 
as st), 1dc in first st, (2ch, miss 1 st, 
1dc in next st) to end, join with Yarn 
A at end of final st, turn. [73 sts and 
72 x ch-sps]

Row 116 (WS) 1ch (does not count 
as st), 1dc in first st, 1dc in first 
ch-sp, (2ch, miss 1 st, 1dc in next 
ch-sp) to final ch-sp, 1dc in final st, 
turn. [74 sts and 71 x ch-sps]

Row 117 (RS) 3ch (counts as first tr 
here and throughout), (1tr in next st, 
1tr in next ch-sp) to final 2 sts, 1tr in 
each of final 2 sts, join with Yarn K 
at end of final st, turn. [145 sts]

Row 118 (WS) 1ch (does not count 
as st), 1dc in first st, (2ch, miss 1 st, 
1dc in next st) to end, turn. [73 sts 
and 72 x ch-sps]

Row 119 (RS) 3ch, (1tr in next 
ch-sp, 1tr in next st) to end, join with 
Yarn E at end of final st (do not cut 
Yarn K, leave it attached ready to 
be re-joined later), turn. [145 sts]

Row 120 (WS) No turning chain, 
1ss in first st, (1tr in next st, 1ss in 
next st) to end, fasten off Yarn E, do 
not turn.

Row 121 (WS) Go back to 
beginning of Row 120, insert hook 
into first ss and pick up Yarn K, 3ch, 
1tr in next st and each st to end, join 
with Yarn I at end of final st turn. 
[145 sts]

Row 122 (RS) 3ch, miss next st, 2tr 
in next st, (miss 1 st, 2tr in next st) to 
end, join with Yarn H at end of final 
st, turn. [145 sts]

In the next rows work the 2tr in-
between each pair of tr into the 
centre space in-between them (not 
into the obvious space between the 
pairs). This pushes the 2 tr apart and 
creates a ‘V Stitch’.

Row 123 (WS) 3ch, miss next 3 sts, 
2tr in space before next st, (miss 2 
sts, 2tr in space in-between next 2 
tr) to final pair of tr, miss next st, 2tr 
in final st, join with Yarn A at end of 
final st, turn.

Row 124 (RS) Repeat Row 123, do 
not fasten off, continue with Yarn A 
in next row.

Row 125 (WS) 3ch, 1tr in next st 
and each st to end, turn.

Autumn leaves are now made 
again. Cut a length of yarn 
measuring approx. 120cm for 
each leaf. Cut 5 pieces in Yarn 
B, 5 pieces in Yarn C, 5 pieces in 
Yarn D, 4 pieces in Yarn E and 4 
pieces in Yarn I. After using each 
piece, leave the yarn there ready 
to be re-joined for each leaf in the 
subsequent rows.

Row 126 (RS) 2ch (counts as first 
htr) *1BPtr around each of next 5 
sts changing to Yarn B at end of 5th 
tr, 3FPtr around next st changing 
back to Yarn A at end of 3rd st, 
repeat from * across row to final 6 
sts using a length of Yarn C for the 
next leaf, Yarn D for the 3rd leaf, 
Yarn E for the 4th leaf and Yarn I 
for the 5th leaf, then go back to use 
another length of Yarn B for the 6th 
leaf and continue in order, after 
final 3FPtr in Yarn D work 1BPtr 
around each of next 5 sts, 1htr in 
final st, turn. [191 sts including 23 
groups of 3 raised sts]

Row 127 (WS) 2ch (counts as first 
htr), *1FPtr around each of next 5 
sts changing to Yarn D at end of 5th 
tr, 1BPtr around each of next 3 sts 
changing back to Yarn A at end of 
3rd st, repeat from * across row to 
final 6 sts changing to next colour 
for each leaf accordingly, after final 
leaf work 1FPtr around each of next 
5 sts, 1htr in final st, turn. [191 sts 
including 23 groups of 3 raised sts]
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Row 128 (RS) 2ch (counts as first 
htr) *1BPtr around each of next 
5 sts changing to Yarn B at end 
of 5th tr, FPtr3tog over next 3 sts 
changing back to Yarn A at final 
yoh, repeat from * across row to 
final 6 sts changing to next colour 
for each leaf accordingly, after final 
leaf work 1BPtr around each of next 
5 sts, 1htr in final st, turn. [145 sts 
including 23 groups raised sts]

Row 129 (WS) 3ch, 1tr in next st 
and each st to end (pay attention 
to crochet into the top of the 2 ch 
which is the final st), join with Yarn J 
at end of final st, turn. [145 sts]

Row 130 (RS) 1ch (does not count 
as st), 1dc in first st, (2ch, miss 1 st, 
1dc in next st) to end, turn. [73 sts 
and 72 x ch-sps]

Row 131 (WS) 3ch, (1tr in next 
ch-sp, 1tr in next st) to end, join with 
Yarn B at end of final st, turn. [145 
sts]

Row 132 (RS) 1ch (does not count 
as st), 1dc in first st, (2ch, miss 1 st, 
1dc in next st) to end, join with Yarn 
C at end of final st, turn. [73 sts and 
72 x ch-sps]

Row 133 (WS) 1ch (does not 
count as st), 1dc in first st, 1dc in 
first ch-sp, (2ch, miss 1 st, 1dc in 
next ch-sp) to final ch-sp, 1dc in 
final st, join with Yarn D at end of 
final st, turn. [74 sts and 71 x ch-sps]

Row 134 (RS) 1ch (does not count 
as st), 1dc in first st, (2ch, miss 1 st, 
1dc in next ch-sp) to final ch-sp, 
2ch, miss next st, 1dc in final st, join 
with Yarn E at end of final st, turn. 
[73 sts and 72 x ch-sps]

Row 135 Repeat Row 133 joining 
with Yarn F at end of final st.

Row 136 Repeat Row 134 joining 
with Yarn G at end of final st.

Row 137 Repeat Row 133 joining 
with Yarn H at end of final st.

Row 138 Repeat Row 134, do not 
fasten off, continue with Yarn H in 
next row.

Row 139 (WS) 3ch, (1tr in next 
ch-sp, 1tr in next st) to end, turn. 
[145 sts]

Row 140 (RS) 1ch (does not count 
as st), 1dc in first st and in each st to 
end, turn.

Row 141 (WS) 3ch, 1tr in next st 
and each st to end, turn.

In Row 142 crochet around the 
non-working brown Yarn I when 
crocheting in-between the raised sts 
to carry it along invisibly and ready 
to be re-joined each time across the 
row.

Row 142 (RS) 1ch (does not count 
as st), 1dc in each of first 3 sts 
changing to Yarn I at end of 3rd 
dc, miss next st instead working 
1FPquadtr around the 4th tr in from 
right 3 rows below in Row 139 
changing back to Yarn H at final 
yoh of st, *1dc in each of next 5 sts 
changing back to Yarn I at end of 
5th dc, miss next st instead working 
1FPquadtr around the 6th tr along 
from previous raised st below in 
Row 139 changing back to Yarn H 
at end of st, repeat from * 22 times, 
1dc in each of final 3 sts, join with 
Yarn J at end of final st, turn. [145 
sts including 24 raised sts in Yarn I]

Join us next week for part 6!
Border of leaves and  

forget-me-not flowers...

Row 143 (WS) 1ch (does not 
count as st), 1dc in first st, *miss 2 
sts, 7dtr in next st, miss 2 sts, 1dc in 
next st, repeat from * 23 times to 
end, join with Yarn K at end of final 
st, turn. [24 groups of 7-dtr]

Row 144 (RS) 3ch, *miss first st 
of 7-dtr group, 1htr in blo of next 
st, 1dc in blo of each of next 3 
sts, 1htr in blo of next st, miss final 
st of 7-dtr group**, miss next st 
instead working 1dtr into same st it 
is worked into 2 rows below, repeat 
from * 23 times ending final repeat 
at **, 1tr in final st, turn. [145 sts]

Row 145 (WS) 3ch, 1tr in next st 
and each st to end, turn.

Row 146 (RS) 1ch (does not count 
as st), 1dc in first st and in each st 
to end, join with Yarn G at end of 
final st (do not cut Yarn K, leave 
it attached ready to be re-joined 
later), turn. [145 sts]

Row 147 (WS) No turning chain, 
1ss in first st, (1tr in next st, 1ss in 
next st) to end, fasten off Yarn G, do 
not turn.

Row 148 (WS) Go back to 
beginning of Row 147, insert hook 
into first ss and pick up Yarn K, 3ch, 
1tr in next st and each st to end, 
fasten off and weave in ends. [145 
sts]


